EARAROBREBRT —5 XN—ZXBISH—F

2024588108 (£) 204LIE1H

LM 5% 2% ®BF (BS) [sx] B8 EREIEEEE

[AE=%] 1 7% :5,500,000 § ~ 27 :2,200,000 @ .~ 37 :1,400,000 H 4 3&:830,000 . 5 7&:550,000 H

RS R 1 B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
= == eI : -1-1- HeEH =8
FUXRSS 28D g B R e ‘}Z? SARTT
RiVAFY B:YvyYRIVYa /=Y ITr—1A

= e TN : -2-2- HEEMUER (ER)
IAI1=/A—2 82 B 1(.14/92.)5 2-2-2-2 | 34.9] 8.0 | 3 ‘:3;3 Tl
RiLAF40 B:Fv—FIITAT7 J=HUTr—L
RS — 4 2 | FAER 1:49.7 2-3-3-4 |34.9|80.9| 5 34 | EH E®R)
DA INRS—/ 55.0 (112 ) | ) o1
RivAVTSA N B:UI—VIo AZRET1—T7—L
M), — % o2 | B2 1:50.0 4-3-3-2 35.2| 76.7 | 2 M6 | SRS (5H)
TIL—9 R 55.0 a3/4) © |BEU=Z @)
RUAVFA—R B IVINATTI— At FHAI
_ B2 | KEVEE 1:50.0 7-7-6-5 |35.0| 77.8 | 7 | 452 |ZEEEL (GSE)
55| | FO7T—9 5.0 F5%) e |NEEE
RIN—EVIr— BHEFO4—T XF s
< 5 i : 57~ FHE (EFER)
617]7 | XAvav7IF2 #2255 7 A AR el Il B B e
RIZD—JUFv—R B:X(YanT—4F =IB%iS
= t o2 | AR 1:50.5 6-5-5-5 | 35.6| 69.8 | 6 M8 | PREH (FFR)
d : PIESE %S w2 28% 3 AT
Ri—5—YvF BAFTF—UA A+ FHA
[ BN
En'y 47.3-34.9
NOVIAL | 12.7-12.4-12.4-12.3-12.3-12.4-11.9-11.4-11.6
@ 11— —BRIEI
13—7F— 6(1,3) (2,7)4,5
20— — 6,3(1,2) (4,7)5
30—7F— 6,3(1,2)4,5,7
40—7F— 6(3,2)1(5,4,7)
0 ILRE
BB 6 130M9 JA R 3-6 260M B E 3-6 540 3EE 1-3-6 1,130
B B 6 110 1-6 300 o= 6-3 720 3Es 6-3-1 2,780M
3 2304 1-3 700

ABIC OV TRUTEREERRODDZE. THRIIZEL.




